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DANIEL SITARU - ROMANIA

Find x,y, 2z > 0 such that:

logy x + logy y + logy 2 = 3
3 +3V4+37=27

Solution by Rovsen Pirguliyev - Azerbaijan.

(1) log, x + logy y + logy 2 = 3
(2) 3F4+3V+3° =27
From the first equation we have:

(3) xyz =8

Twice applying AM-GM inequality to the second equation, we have:

; 3
97 = 3% 4 3V + 37 > 3¢/3rrutz > 34/33 vz P 97
Equality is only possible x = y = z, then using z,y, z > 0, we have: (2;2;2) O
MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE ” THEODOR COSTESCU” , DROBETA

TURNU - SEVERIN, ROMANIA
Email address: dansitaru63@yahoo.com



